SHADE SCULPTURE
STINGRAY

ASSEMBLY & OPERATING INSTRUCTIONS

TO PROTECT YOUR PRODUCT, PLEASE READ THE OPERATING INSTRUCTIONS BEFORE HANDLING

1005824



STINGRAY

2| tuuci

PARTS LIST

(@ LEFT - FRONT CROSSBAR x 1PCE
(2 RIGHT - FRONT CROSSBAR x 1PCE
(® LEFT - BACK CROSSBAR x 1PCE
(@ RIGHT - BACK CROSSBAR x 1PCE
(® UPPER MAST x 1PCE

(® LOWER MAST x 1PCE

(@ CORNER SUPPORT x 1PCE
CANOPY

1005824



STINGRAY

3| tuuci

PARTS LIST

(@) LEFT - FRONT CROSSBAR x 1PCE
(@ RIGHT - FRONT CROSSBAR x 1PCE
(® LEFT - BACK CROSSBAR x 1PCE
(@ RIGHT - BACK CROSSBAR x 1PCE
(5) UPPER MAST x 1PCE

(6) LOWER MAST x 1PCE

@ CORNER SUPPORT x 1PCE
CANOPY

1005824



STINGRAY

Step 1 *Insert crossbar 1 to upper 5. Using Bolt 1/4" x 1" and Allen wrench 1/4" tighten until fully secure.
*Insert crossbar 2 to upper 5. Using Bolt 1/4" x 1" and Allen wrench 1/4" tighten until fully secure.
*Insert crossbar 3 to upper 5. Using Bolt 1/4" x 1" and Allen wrench 1/4" tighten until fully secure.
*Insert crossbar 4 to upper 5. Using Bolt 1/4" x 1" and Allen wrench 1/4" tighten until fully secure.
*Insert crossbar 3 to crossbar 1. Using Bolt 1/4" x 1" and Allen wrench 1/4" tighten until fully secure.
*Insert crossbar 4 to crossbar 2. Using Bolt 1/4" x 1" and Allen wrench 1/4" tighten until fully secure.

4 | tuuci

1005824



STINGRAY

Step 2 *Insert lower pole to base plate.

5| tuuci 1005824



STINGRAY

Step 3 *Insert frame 1,2,3,4 & 5 to lower pole 6. Using Bolt 3/8" x 2" and Allen wrench 3/8" tighten until fully secure.

6| tuuci 1005824



STINGRAY

Step 4 *Insert corner support 7 to upper pole and lower pole 6.
Using Bolt 1/4" x 1" and Allen wrench 1/4" tighten until fully secure.

/

]

:
]
{ 3

‘

|
)
.

|
|
|
|

\

7 | tuuci 1005824



STINGRAY
Canopy Installation

Step 1:
insert pockets on both sides of frame as shown

Step 2:
with the help of someone propping the edges zipper canopy by sections on both sides.
See step 3 for details.

8| tuuci k 1 005824



STINGRAY
Canopy Installation

Step 3:
Zip all 4 sides halfway and evenly.

If necessary use the rope provided to pull and lead the zippers horizontally to help close.
Do not use extreme force to pull the zippers and never pull the rope downward.

Once all 4 sides are zipped halfway go back and fully zip/close all four sides.

Step 4:
secure bottom with the velcro strap

9 | tuuci 1 005824



